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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-16

BfE) | GEBERTK (7)) | EBE (EA/HK) | XS ERE

07:15 142 150. 0 M|  FHR@e07:15 REMIEF (CRAKZER)
08:10 142 150.0 FI| FHA@08:10 KEFEF (RAERESE)
09:40 142 150.0 M| FiEAe09:40 KHEIEF (KBHEEE)
10:45 142 150.0 M| FiHAe10:45 KREFEF (REAERSE)
11:40 142 150.0 FI|  FHAe11:40 RHMIEF CRAKZESR)
12:35 142 150.0 RS ThHAe12:35 KEIEF (CRKAHEERE)
13:30 142 150.0 RS FHAe13:30 KEIEF (CKAHEREE)
14:25 142 150.0 RS FrHR@14:25 REIEF (REAEESE)
15:30 142 150.0 RS ThHA@15:30 KEIEF (KAFEERE)
2it[1278.0 (9%) 1350.0 ZEUHREC: 2080.0, PH: 5.6

REREBIEC (2530.0) HiZEEC (2000.0) REK K, HEE
FHERECE (2530. 0 vs 4632.0) 145



FRV (ml plant-1)

ET (ml/hr/plant)

P3-16_0, Day=44 (2025-05-14)
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P3-16

BriE) | EBIETK FD) | EE (EH/HK) | XK SRR

07:00 135 150.0 B5| {Ri%Z@07:00 KENFEFF (RFAA1EREE)
07:50 135 150.0 B5| {RiZ@07:50 KRENFEFF (RA1ERER)
08:40 135 150.0 Be| {Ri%@08:40 RHEFEF (KFAEZRE)
09:30 135 150.0 Be| {Ri%@09:30 RIMFEF (KRAEZRER)
10:30 135 150.0 f5| 1Ri%@10:30 KRHIERF (RAEHS)
11:20 135 150.0 Be| BRi%e11:20 REEF (KAEZRE)
12:10 135 150.0 Be| BRi%e12:10 RIEF (KRAEZRRE)
13:00 135 150.0 R5| 1Ri%e13:00 KHIEF (RAEHS)
13:45 135 150.0 Be| 1BRi%013:45 RHEF (KAERE)
14:30 135 150.0 Be| 1BRi%014:30 RHEF (KRAEZRRE)
15:20 135 150.0 (=] {Ri&e15:20 KHEF (GAERESE)
23t 1485.0 (11)%) 1650. 0 32 FEKEC: 2080.0, PH: 5.6

large discrepency for begining water status (340:168.0), set to 340 ml.
REXEEBIEC (2515.0) 5% FEEC (2000.0) RER A, HFHE
#[E);%ECE (2515.0 vs 3718.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=43 (2025-05-13)
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P3-16

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR e

06:55 128 150.0 |Z=| 1RiB@06:55 KENFEF (RAFESE)
07:55 128 150.0 (& =| {Ri&e07:55 KEFEF (RFAKRES)
08:55 128 150.0 (& =| {Ri&e08:55 KENFEF (RAATREE)
10:25 128 150.0 PR 1Ri%@10:25 KENFERF (RAEREE)
11:40 128 150.0 FA|  {Rige11:40 KREIEF (KRS
12:45 128 150.0 PR {FRi%@12:45 KREIEF (RATREES)
13:55 128 150.0 FA| {Ri%e13:55 KEiEF (KRAEESS)
15:00 128 150.0 FA| {Ri%@15:00 KEFEF (KRS
16:35 128 150.0 PA| 1Ri%@16:35 KRHIEF CRAKZRS)
23| 1152.0 (9%) 1350. 0 329333 %EC: 2080.0, PH: 5.8

large discrepency for begining water status (306:72.0), set to 306 ml.
REXEEBIEC (2560.0) 5% FEEC (2000.0) RER KA, HFHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=42 (2025-05-12)
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P3-16

AYiE) | EBIAT (FD) | EBE (EH/HK) | XKR EFRF

08:55 125 150.0 BE| 1Ri%@08:55 RHEIZF (KREERE)
09:50 125 150.0 RS {Ri%e09:50 KEIEF (KAHEEE)
10:45 125 150.0 B5| {Ri%010:45 KENFEF (RATEREE)
11:45 125 150.0 BE| Bi%et11:45 RHEF (KAEZRSE)
12:40 125 150.0 B[ Rige12:40 kEIEF CGRAFERE)
13:45 125 150.0 B5| 1RiR013:45 KREFEF (RAERE)
15:05 125 150.0 AE| {Ri%e15:05 KREEF (KAHEKSE)
16:25 125 150. 0 Be| Ri%016:25 RHTEF (KAEZRR)
2311 1000.0 (8%) 1200.0 329053 KEC: 2080.0, PH: 5.8

REREBIEC (2565.0) H5iZEEC (2000.0) REI K, HRE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=41 (2025-05-11)
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